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Candidates should read the following instructions ¢ before answering the questions:

! is age, containing 100 questions. Verify the
Page Nos. and Test Booklet series o d bring at once to the Invigilator’s notice

any discrepancy.
2. Answers will have to be given i Sheet supplied for the purpose.

Sheet in response to various items in the Test Booklet,
n the OMR Sheet. Do not fold the OMR Sheet as this will

3. Before you proceed to mar
you have to fill in so
result in error in y

4. All questions are of mu -choice answer-type. You will find four probable answers (A), (B),

(C) and (D) against each question. Find out which of the four answers appears to be correct or
' the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answer. 0.25 mark for each wrong answer.

7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Who won Women'’s Hockey 5s Asia Cupin”
20237 g

(A) Pakistan
(B) Bangladesh
(C) India

(D) China

2. Dakshin Gangotri, India’s first scientific
base station is in—

(A) Himalayas
(B) Indian Ocean
(C) Antarctica
(D) Kanyakumari

3. 4/20++/20++/25 = How much?
(A) 2
(B) 3
© 5

(D) 6

Sy

4. Who is the youngest mountaineersin the
world and first from India te)climb both Seven
Summits and Volcanic Seven Summits? :

(A) Amulya Sen

(B) Bachendri Pal

(C) Basanta Singh Roy
(D) Satyarup Siddhanta

5. Where doLes the Easternghat and
Westernghat (mountain range) meet?

(A) Nilgiri
(B) Annamalai
(C) Aravalli
(D) Satpura

1. 2023-q =R 2 55 Asia Cup el
C“T"T—'

(A) AfRm
(B) ot
(C) ©ive
(D) B

2. R AR, BIRTOT Sl (IS (P O
TRe—
(A) T i
(B) ©iFe TZAe
(C) SGRb!
(D) ‘FRAA

37120 4420 + 25 = T
&) 2 |
(B) 3
€5
D) 6

4. Rrwa TS @3 SRTST AUy AL -
R erew 7fG ¢ Wil eres MhE wiEEs
HARA—

(A) ST G
(B) et S
(C) T gy
(D) STerist Fratg

5. orre oF 8 Ao qhE (sifowuEE)
RN FT—
’ (A) =R
(B) SR
(C) SRt
(D) o=@t




6. The percentage measurement of water is
20% in 70 litres mixture of milk and water. How
much litres water should be added in the mixture,
so that the percentage measurement of water
becomes 30% in the mixture?

(A) 15 litres
(B) 10 litres
(C) 20 litres
(D) 25 litres

7. President of India is elected by—
(A) elected members of Lok Sabha,
RajyaSabhaand all the state Assembly
(B) elected members of Lok Sabha
(C) elected members of Rajya Sabha
(D) elected members of all state Assembly

8. The ratio of income of two persons is2% 3
and the ratio of expenditure is 5 : 9. If both of the
two persons can save rupees 600 at the'end of a
month, then what is the monthly income of the first
person?

(A) Rs. 1,600
(B) Rs. 1,200
(C) Rs. 1,800
(D) Rs. 2,000

9. An empty tank is water-filled by A and B
pipesin 10 minutes, by B and Cpipesin 12 minutes
and by A and C pipes in 15 minutes. In how much
time the three pipes together will fulfil the empty
tank with water?

(A) 8 minutes
(B) 6 minutes
© 6—;1‘7 minutes
(D) 5 minutes
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6. 70 BT 14 @ WFEE W S X%
i 20% | Refre wae Fo oMR &=t GMITe
o4, Five R e *roaa sifFwid 30% 2

(A) 15 fer
(B) 10 fForR
(C) 20 o
(D) 25 Fior

7. oEred ARATS Fifoe w—
(A) EIRTS, AEpEel s FrenfaaTeislE
e swer wat
(B). (TSI oS wwsp aial
(€) e FEite wep ==t
(D) Few Rumreisfr R sy ami

8. MG JIFT SN SR 2 @ 3 IR 4B
wAlS 5 : 913 3 e Tom (I 600 Bi! I
Tl EW, SigE AW Jfew NHT wE o7

(A) 1,600 GBI
(B) 1,200 Bt
(C) 1,800 Bt
(D) 2,000 T

9, @35 3t 5% A ¢ B == fica 10 5, B8
C 1 fawa 12 G @R A C 7 faca 15 %
el A | e ol «@3hte e T i Bl
A FACS AL

(A) 8 7w
(B) 6 W%

© 6% R
(D) 5 RfG
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10. Universal blood doner group—
(A) Group A
(B) Group B
(C) Group AB
(D) Group O

11. ‘Sarbodhinayaka’ or Head of Tamralipta
Jatiya Sarkar—

(A) Sushil Kumar Dhara

(B) Satish Chandra Samanta

(©) Ajoy Kumar Mukhopadhyay
(D) Amulya Charan Maity

12. What is the difference between compound
interest and simple interest of rupees 5,000 in
2 years at 8% annual rate of interest?

(A) 64
(B) 26
(C) 52
(D) 32

13. A famous musician in the.court of Akbar—
(A) Tansen
(B) Abdul Latif
{C) Tulsidas
(D) Abdus Samad

14, Who was awarded 2023 SASTRA
RAMANUIJAN in Mathematics?

(A) Roger Penrose
(B) Katherine Johnson
(C) Ruixiang Zhang
(D) John Conway

A-4

10. (PN SFTAT TG AR il 2
(A) &1 @q
®) &+ R
(C) &ty
(D) &e

11. ©ife w18 TRET SR R
(A) 1 TR 41!
(B) FOMHH AT
(C) =IE® TR G
(D) SpREyE3e T2fe

12. 91R% 8% FF A 5,000 TIIT 2 =
Bergian 9 '8 I R SIS FO 2
(A) 64
(B) 26
(€) 52
(D) 32

13, SIFIET FEPTeid e AR ew—
(A) oG
(B) &It ST
(C) Mt
(D) It TR

14. sffdte 2023 SASTRA RAMANUJAN
AT CIET—
(A) TEIE ™
(B) A oW
(C) =3fEmR i

(D) & TS




15. The product of two numbersis 1575 and the

quotient is % , what are the two numbers?

(A) 45,35
(B) 81,63
(C) 35,27
(D) 36, 35-

16. If (87" 6) is dmded by 88, the remainder
will be

(A) 5
B) 1
(© 81
(D) 87

17. Dyarchy was introduced in Bengal by—
(A) Robert Clive
(B) Warren Hastings
(C) Lord Wellesley
(D) Lord Dalhousie

18. Who was awardedSPINOZA prize 2023
for climate change work?

(A) Greta Thunberg
(B) Malala Yousafzai
(C) Joyeeta Gupta
(D) Rachel Carson

19. The product of three consecutive natural
numbers is 120. What is the sum of the three
numbers?

(A) 9
(B) 15
© 12
D) 14
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15. 9fb A4 welwet 1575 aa\@tsrq»—ef Z, R4
i N He
(A) 45,35
(B) 81,63
(C) 35,27
(D) 36,35

16. (87'%-6)-(& 88 @Al ©I% T SeieE I
(A) 5
(B) 1
(C) 81
(D) 87

17, AER GOPT A T
(A) T Fize
(B) SR &6
(C). TG STEMR
(D) =16 SR

18. 2023-9 TR ARETE TR ﬁwwm
SPINOZA 7513 (ATH—

(A) ot s

(B) ieilett eHITeEiE
(C) Tfiel vy

(D) UNHS I

19. 19 +3 foi Freifde Se ALY esw 120,
i feaibe qisiws g9 ¢
(A) 9
(B) 15
(C) 12
(D) 14
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20. Whoisthe Director General of Indian Coast

" Guard?

(A) Sanjay Jasjit Singh
(B) Ajay Kochhar

(C) Ram Das Katari
(D) Rakesh Pal

21. What will be the value of angle between the
hour-hand and minute-hand in a clock at dawn
4 am.?

(A) 90°
@) 150°
(C) 120°
(D) 110°

22, Saltreeis
(A) Coniferous
(B) Evergreen
(C) Mangrove
(D) Deciduous

23. Last Viceroy in India—
(A) Lord Canning
(B) Lord Linlithgow
(C) Lord Mountbatten
(D) Lord Wavell

24, ‘Mattavilasaprahasana’ was written by—
(A) Rashtrakuta King Dhruva
(B) Chola King Rajendra Chola
(C) Chalukya King Pulakesin
(D) Pallava King Mahendravarmana

20. W%WWWW

(TRIAEEEE) &0
(A) e Toifere P
(B) & (T
(C) Iem T
(D) [ Al

21. (S4TI9 viere w5 e RGBSt
WIS @I TN T
(A) 90°
(B) 150°
(C)y 120°
(D). 110°

22, =iF T T
(A) TERAR
®) brrE
(C) WHErs
(D) STy

23. SO (1 ST —
(A) 76 iR '
(B) 16 Fmfwarat
(C) =& ATTIER
(D) 7§ eTres

24. “TeReR a7 TRE—
(A) FMTTE At &9
B) @i el TrEs Gl
(C) ey e ST
(D) *iE e T

B T o




25. Whatwillbethecompoundintcrestofrupees

900 in 2% years at 5% annual rate of interest?

(A) 103-28
(8) 11020
(C) 104:50
(D) 10216

26. Where in India different types of Corals are
seen?

(A) Sundarban
(B) Kerala

(C) Daman & Diu
(D) Lakshadweep

27. Who writes story of another person’s life—
(A) Historian ’
(B) Biographer
(C) Chronicler
(D) Penman

28. World’s highest rainfall—
(A) Chinna Kallar
. (B) Pune
(C) Pasighat
(D) Mausynram

29. 1,8,9, 64,25,216,7
(A) 49 :
B) 256
(C) 128
(D) 343

inv ’ 2
25, QUFFIH 5% A IO0TIFHE 25 IATE @
I O AL '

(A) 10328
B) 11020
(C) 10450
(D) 102:16

zs.ammmﬁﬁwwmm?

(A) RIS
(B) ceame
(C) w8 T
(D) ErEa

97/ SR ERA @A Be—
() afeHFT
(B) SRR
(C) TR
(D) e

28. e (Row) WAe T—
(A) fomt TEE
(B) A
(©) =«
(D) GifFEm

29. 1,8, 9, 64,25,216,?
(A) 49
(B) 256
(©) 128
(D) 343
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30. A cricketer had a certain’ average of rung
up to his 64 innings. But the average runs of the
innings gets down by 2 runs on becoming out at
Zero ir; the 65th innings. Then what
average of runs?

(A) 130
(B). 128
(C 64

(D) 120

is his present

31. Last Governor General of India—
(A) Lord Canning
(B) Lord Ellenborough
(C) Chakravorty Rajagopalachari
(D) J. B. Kripalani

32. Whatis the sum of the first 100 odd natural
numbers?

(A) 10000
(B) 10650
(C) 15050
(D) None of the above

33. Crocodile Tears meaning—
(A) Tears from animals
(B) Painful expression
(C) False tear
(D) None of the above

34. Brass is made of following metals:
(A) Iron-Copper
(B) Copper-Tin
(C) Copper-Aluminium
(D) Copper-Zinc

A-8

30. 97 ST 64 3w 4T Gl e
mwﬁarmésw%ﬁmwmwﬁ‘

mm?ﬁwwmzmw:w%ﬁw
NG A T ? .

(A) 130
(B) 128
' (O) 64
(D) 120

31. ST 1R TS e
(A) =T ifag
(B) =S «remamnt :
(& BT il ik Bt
(D) @R, strerret

32. ey 1006 7 fRiverts sicans swfly < 2
(A) 10000
(B) 10650
(©) 15050

(D) Coitar RIS 7y

33, gfiem R e —
(A) 2o s
(B) w3y wfeqfe
(C) oo w1
(D) Bz oo 7

34. Fieet =1 feare stwmm e ¢

(A) @EIR-sra
(B) of-fomt

(©) sr-epEffagr
(D) sttt



35. What digit is to be put in the ‘*’ marked
place to get the number 5432*7 divisible by 9?

(A) 0
® 1
(©) 6
(D) 9

36. How many times will be some principal in
principal & interest in 10 years at 10% annual rate
of simple interest?

1 ..
(A) 1 2 times
(B) 2 times
© 2—;'— times
(D) 3times

37. A train crosses a lamp-post in 10 seconds
and crosses a 50 metres long platformin 14 seconds.
Then what will be the speed of the train in an hour?

(A) 60 km/hour
(B) 45 km/hour
(C) 30 km/hour
(D) 40 km/hour

38. Who was awared the first Noble Prize in
India?

(A) Mother Teresa

(B) C.V.Raman

(C) Rabindranath Tagore
(D) Amartya Sen

39. If 26th day of March of 2019 is Tuesday,
what day will be 26th day of March of 2022?

(A) Saturday
(B) Sunday
(C) Thursday
(D) Wednesday

A-9 DMRI/22

. 35, % FITA (I ORE TG 54327 A1 9aral
ey mae

.(A) O

®) 1
©) 6

D) 9

36, T 10% 2= 7 IR (A S 10 9=
- FO3 A2

1
(#) 1 e
' (B) 2@d
L
© 2 &
(D). 3 @l

37. G2 G G T=-(APEE 10 CTLR0S 93
50 ot orodi w14 GRS e FH|
oiRE AT 95 e [ sifew@e za?

(A) 60 /a6t
B) 45 Bhy/ao!
(C) 30 ¥R/
(D) 40 fBfRi/<H

38. SEoIE (F ST I SFR A2
(A) R Gl
(B) F.f
(C) 7T S
(D) = @A

39, 2019 FEE 2604 N TR TH, 2022
HieTa 2604 W [ IR T2

(A) =faE
(B)
(©) Fifea
(D) 3@
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40. A 70 metres long trdin in a speed of
75 kmvhour will cross a 105 metres long bridge in
time.

(A) 2% seconds
(B) 8%— seconds
(©) 9-?— seconds

D) 13% seconds

41. International Women’s Day—
(A) February 8
(B) March 8
(C) April 8
(D) December 8

42. Which country has decided to'ban mobiles,

tablets and smart watches/from’classrooms in
20247

(A) China

* (B) India
{C) Netherlands
(D) Japan i,

43. Which Five Year Plan (India) focused on
the development of heavy industry?

(A) First Five Year Plan
(B) Second Five Year Plan
{C) Third Five Year Plan
(D) Fifth Five Year Plan

40. 9% 70 FT 7191 G~ <0 75 /Y @l

105 fifBta =191 @< e 49 20 sy

(A) 2% TS

(B) 8% CTFT
© 9% T

(D) 18% TS

41, TSRS w2 Froi—
(A) 8 @l
(B) 8 Wb
(C) 8 ¢feim
(D) 8 e

42. (@I FCHETR) (VR N, TREn

@ 5 e R 0= 2024 (A
(&) o=
(B) ©rre
- (C) IETIER
(D) =

43. OIS i AR siffeman o Fer

Rt ewg oreml Tafes ¢
(A) &% AR A=
(B) &S oaf¥F Afdaa
(C) PO *=saIfiR wAfemmmt
(D) i AR A
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44. A, B and C start ajoint business. At the end
of the year, A gets %portion of dividend, B gets
—}Iportion of dividend and C gets rupees 4,900.
‘What was the total profit in the business?

(A) Rs. 12,000
(B) Rs. 14,000
(C) Rs. 15,000
(D) Rs. 10,000

45. A train goes 10 km distance in 12 minutes.
If the speed of the train decreases 10 km/hour, then

how much time will be needed for the train to go

that distance?
(A) 20 minutes
(B) 10 minutes ’ i+
(C) 15 minutes
(D) 25 minutes

P

46. Thecostprice of anarticleis rupees 620and
itis 25% less than the marked price. If the articleis
sold at 15% discount, then the percentage of profit
will be

(A) 14%% g, 4
b

®) 13%%

©) 13%%

(D) 12?5-%

47.
P = How much?

(A) 190
(B) 225
(C) 255
(D) 536

4. A,BS Cam TP T I | T CTR
AT 2 e, BT ! setomamC
4,900 51 A | G B < S TR
(A 12,0000

(B) 14,000 Bt

(C) 15,000 A

(D) 10,000 B

45. «af G 10 i =9 AW 12 RfE 1 T
Gafoa st 10 Tofii/ <61 09 T, O G Y
e GRE T AT T2

(A) 20FF5
(B) 10
(©)n1s s
(D), 25 B+

46, S ETUT T 620511 43R ! T
(AT 25% T e 15% 208 Rt S, O

IR AN TR
(A 14%%
®) 133%
(C)&é%%
o 2
R CRE L
Er’-’”".r
el
5,
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48. First b‘attlé of Tarain was fought between—
(A SultanMahmudand Prithviraj Chauhan

(B) Muhammad Ghori and Prithviraj
Chauhan

(C) Babur and Ibrahim Lodi
(D) Akbar and Himu

49. 12 people can finish a work in4 days. How

many people will be needed to do 8 times of this
work in half of the time?

(A) 112 people
(B) 150 people
(C) 160 people
(D) 192 people

50. Name of the book written by Kautilya—
(A) Indica
(B) Suryasiddhanta -
(C) Arthasashtra
(D) Mudrarakshasa

51. 'Ihesmallcstnufnberamong 3% 9%
is 4
1
(A) 33
1
(B) ¢9

1
© 35

1
(D) g6

52. The product of two consecutive numbers is
1980, what is the smallest number? -

(A) 33
(B) 44
© 35
(D) 55

1 9
,35,96 °

A-12

48. SARTTT 219l T rRE—
(A) PToR IRm 93% iR darera T
(B) 3= (1 9=k {farer Payera g
(©) =T 93 L@ e g
(D) =FE 938 B g

(A) 112%w
" (B) 150w
(C). 160w
(D) 192 T

50. Riber Bile el am—
(A) FEm

(B) imrg
(C) w<ig.
(D) ImRA

51. 3%, 9%’ 3%" o~ WY e ey
(A) 3
(B) g
© 3

' 1
(D) 9%

[T TN

i O

52. 79 719 vf6 AT wim 1980 E, ey

MGG For

(A) 33
(B) 44
(C) 35
D) 55



53. Which is the highest number of six digits
divided by 7,12, 5 and 15 remaining the remainders
5, 10, 3 and 13 respectively?

(A) 999608
(B) 999598
(C) 999600
(D) 999500

54, Only metal that is liquid at normal
temperature—

(A) Gold
(B) Zinc
(C) Copper
(D) Mercury

55. How many Gold Medals won by India in
Asian Games, 20237 :

(A) 27
(B) 28
(©) 29
(D) 30

56. Chief Justice of Kolkata High Court—
(A) Justice Surya Kant
(B) Justice D.Y. Chandrachud
(C) Justice T.M. Stvagnanam
(D) None of them ’

57. Which country won Women’s Emerging
Asia Cup in 20237

(A) Pakistan
(B) India
(C) Sri Lanka
(D) China

A-13
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53, WG @F @A 7, 12,56 1574
ot FAC FAFW 5, 10, 3¢ 13 SR AR 2

(A) 999608
(B) 999598
(C) 999600
(D) 999500

54. GG 41F T TSRS SN T ST
AE—

(A) G
(B) w3l

© ot
(D) Atm

55, 2023~9 GFHIR (AFFT-4 SIAToE 2le 3o
F—
(A) 27
(B) 28
(©) 29
(D) 30

56. FETS! TS el Fomefo—
(A) @B LT
(B) w57 &, 8712, barpe
(C) =% 6. «w, Frareates
- (D) THET (T3 W

57. 2023-4 (P (7 Women’s Emerging Asia
Cup f&rerm?

(A) AR
(B) ©IIS
(C) St
(D) B
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58. If rupees 42 is the difference of interest of 58. e 5% T o QTR Rog AN it
some amount of principal between 3 and 4 years at 3 923 8 4 9R(AF WA 2T 42 Tis 5, SEE
5% annual rate of simple interest, what is the S T ' )
amount of principal? (A) 800

(A) Rs. 800 (B) 8405
®) Rs. 840 C) 900 M
(C) Rs. 900 ©
D) Rs. 620 | (D) 620 B
59. Mahaparinirvana means— 59, wyeifafaia Fre-
(A) Enlightenment (A) QI =e
(B) Dharmachakraproborton (B) (foeraaeq
(C) Leaving family (©). AT
(D) Death of Lord Buddha
(D) T&d 1
60. Forest conservation can arrest— 60,/ I WTFCR g AfSran wE—
(A) soil erosion i (A) gfren
(B) pollution B) @+ "
(©) flood (©) 1=
(D) All of the above (D) ToiEa TRFHR
61. Who renamed Calcutta as Alinagar? 61, TS A wifEmee @eEE
(A) Alivardi Khan (A) SR 4
(B) Murshid Quli Khan (B} W 7
(C) Sirajuddaulah ' (C) Srretma
(D) Mir Qasim @) R
62. Human skin tone is governed by the 62. AT MEIR (SR WSa s @ eimmg
pigment— ° - BeE—
(A) Melanin (A) GrEfee
(B) Silicon (B) ﬁﬁ?,—;{
(C) Insulin ©) ?ﬁﬁ?
(D) None of the above ) Seiam @R T




63. The average of 20 numbers is 12. If the
average of the first 12 numbers is 11 and the
average of the next 7 numbersis 10, the last number
will be

(A) 38
(B) 36
(C) 26
(D) 28

64. Which state is the largest producer of
sugarcane in India?

(A) Uttar Pradesh
{B) Maharashtra
(C) West Bengal
(D) Tamil Nadu

65. India’s first Remote Sensing Satellite—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

66. Which city of West Bengal'is known as
gateway to N. E. India?

(A) Jalpaiguri
(B) Alipurduar
(C) Siliguri
(D) Coochbehar

67. %+%+ﬁ+....+ﬁ= How
much?
&) 3
®) =
© =
©) 3

A-15 DMRI1/22

63. 2075 7edrg 1w 121 =2% 125 ez 1w 11
AR, #igd 716 AT 1T 10 T, o TR T3

(A) 38
(B) 36
(©) 26
(D) 28

64, SIS (P TS CIF AN IR QM
(A) Terem
(B) ¥2alg
(C)sifowae
(D) IFEIE

65. ©BIATeT 2w Al GWiR TG (™
S BoteE)—
(&) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

66. 5T (A RIS Ten-o{ o
AT <o A2
(A) TR
B) i
(C) ifef
(D) @RI

67.

.I._.
+
.[._.

L
~1
~]
O
+
el
—
—

Ll

>

S
.[_
Pk

= o Rl B2

®)
©)

C
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68. Leader of Munda uprising—
(A) Joa Bhagat
(B) Sidhu
(C) Birsa
(D) Kanhu

69. 4 years ago, the ratio of ages of father and
son was 9 : 2, The present age of the father is
40 years. What will be the present age of the son?

(A) 12 years :
(B) 15 years
(C) 18 years
(D) 10 years

. 70. Metropolitan Institution was founded by—
(A) Ram Mohan Roy
(B) Iswar Chandra Vidyasagar
(C) Alexander Duff
(D) Nabagopal Mitra

71. A and B together can finish.a werk in
10 days, B and C together canfinish that work in
12 days and C and A together can finish the work
in 15 days. Then in how many days Cialone will be
able to do the work?

(A) 10days
(B) 20 days’
(C) 30 days
. (D) 40 days

72, Find out the value:

77 y 71772 L3 . 777%

5 5 5
(A) 3110

(B) 3018
(C) 3000
(D) 3108

A-16

68. oI Reaitas AacEs Aiv—
(A) =l o5
®) Py
(©) =
(D) =g

69. 4 T2 sl Sl @ oI W A
28191 2 | oo IS <1 40 T =1, < a IO
I TS Fa?

(A) 12 95
(B) 15 3=
(C) 18 =
(DY 1095

70. GG SAFBHER & Fot A e
(A) 9GNS A"
(B) Swiave Rwgiilsia
©) INEREISE BIF
(D) T fig

71, A% B 3 @35 31e 10 e, B8 C 90
SR HIGM 12 93 C'8 A I S 15 fe o1
FTACS AT | O C 93l 93 TS To e e
Alqrg e

(A) 10w

(B) 20T

(C) 30

(D) 40 &=

72. R T T ¢

17171 4 77172 913 L A

5 5 5 5
(A) 3110

(B) 3018
(C) 3000
(D) 3108

.
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73. The population of a village is 67,600. If 4%
of population increases every year in the village,
then what was the population of the village 2 years
ago? .

(A) 64,500 .
(B) 62,400
(C) 62,500
(D) 65,100

74. In what proportion pure milk is mixed with
water to sell the mixed milk at its cost price having
25% profit? '

(A) 4:1
B) 3:2
€ 3:1
D) 5:4

75. Theratioof lengths of two trainsis 5: 4:The
ratio of times to cross a post is 4 : 3. Then what will
be the ratio of speeds of the two trains?

(A) 15: 16
(B) 5:3
(C) 6:5
(D) 5:4

76. What is the unit digit of (593)% x (124)%?
(A) 8
(B) 6
© 4
D) 2

77. McMahon line as international Bounﬂary |
between which two countries?

(A) India-Pakistan

(B) India-Bangladesh

(C) India—China

(D) India—Burma (Myanmar)
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73, B AN TSAA @A 67,600 T | TF

Sl &l T=E 4% T IR % A, SR 2 I

wiest €3 ST IR o e
(A) 64,500
_(B) 62,400
(©) 62,500
(D) 65,100

74, 4% TR MR wet | GHirs WRe Fam
e 74 T Rew 3961 25% =© g2

(A) 4:1
‘(B) 342
© 3:1
D)ys5:4

-

5.9 (G0 TS SeAlS 5 : 41 996 e
o THF AAES SIS 4 : 3| OFgE G o
SARSTILST Seire B I ? '
. (A) 15:16

®B) 5:3
©) 6:5
M) 5:4

76. (593)% x (124)%-99 YI(TH &F FT9?
(A) 8 "
B) 6
€ 4
(D) 2

77, ST S GO S G S R
P :

(A) SiEe-Afegw
(B) SIFS—IENT™
(ORECAT

- (D) SIRe-IH (TRE)

Please Turn Over
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78. If the g.c.d. and the l.c.m. of two numbers
are respectively 8 and 160, then the sum of the two
numbers will be

(A) 80
(B) 62
(©) 74
(D) 72

79. Thetotal equivalent discounts of 10%, 20%
and 30% serially on an article is

(A) 71.2%
(B) 62%

(C) 60.4%
(D) 49.6%

80. ‘Poverty & Un-British'rule in India’ was
written by—
(A) Ramesh Chandra Dutt
(B) M. G. Ranade '
(C) Dadabhai Naoroji
(D) Amartya Sen

81. Hiroshima Day is observed every year on
(A) 4th August '
(B) S5th August
(C) 6th August
(D) 12th August

~ 82. For agricultural and rural development,
Apex Bank is—

(A) Reserve Bank of India.
(B) State Bank of India
(C) NABARD

(D) Bank of India

Y
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78. fb HRIF 5.71.2. '8 TG, JARFE 88 160
B, WY 7fha @IoNEE 71

(A) 80
- (B) 62
(©) 74
D) 72

79. GG FAF TAT 217 4T 10%, 20% 92 30%
RICEREEiRICEC
(A) 71.2%
(B) 62%
(C) (60.4%
@) 49.6%

80. “Poverty & Un-British rule in India’-9
(_E]’?fﬁi—
(A) TOMTE wE
(B) @ &, qe
(C) Wiz GG
(D) W) G

81. &fevmy ‘R e sifere o
(A) 45t SR
(B) 53 =IP%
(C) 63 =PD
(D) 12% =sh5

82. %ﬁ G2 St THA ST IE TT—
(A) Fers s o= 2o |
B) G55 TiE = R
(©) IS
(D) 1% == et
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83. If the price of sugar increases by 20% and
10% respectively, what will be the percentage
increase on the total?

(A) 20%
®) 32%
(©) 40%
D) 30%

84. Buying 5 eggs at rupees 10, sells 10 eggs at

rupees 3, then what is the rate of loss?
(A) 75%
(B) 50%
(C) 80%
(D) 100%

85. Who assumed the title ‘Chhatrapati’?
(A) Shivaji
(B) Baji Rao
(C) Dadaji Kondadev
(D) Shambhuji

86. Which state was previously known as
NEFA?

(A) Nagaland
(B) Manipur
{C) Mizoram
(D) Arunachal Pradesh

87. Who invented computer?
(A) Otto Hahn
(B) Niels Bohr
(C) Howard Eitkin
(D) Charles Babbage
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83. ToR= Tt oi7 i 20% @ 10% 3 (oIt s
Bofa Tl T 7 A
(A) 20%
(B) 32%
(©) 40%
(D) 30%

84. 10 % 56 o &1 03 S B 101 fox
Ry =90, ®eq g T2
(A) 75%
®B) 50%
(C) 80%
(D) 100%

85, Taif®’ wfsut MaiReEw
(A) &
(B) &S
(C) wmiSh rema
(D) =&

86. ﬁﬁ%ﬁ@ Fegaled W @0 St NEFA
A wAfaoe e

(A) TNETIS

(B) W7

(C) Tt

(D) SIFIEe &

87. IFTHE SRR FE—
(A) STl EA
(B) e @
(C) QMG @B
(D) BT A=
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88. What is the value of

0835x0835x0835+0165x0165x0165 .,
0835% 0835 —0-835% 0165+ 0165 X 0165
(A) 067

B 1

(C) 0-138

D) 2

89. What is the average of the cubes of
consecutive even natural numbers from 1 to 259

(A) 5200
B) 4240
(C) 4056
(D) 4628

90. If 4 +—1— =(), whatis the value of x*?

1+
X+

A) -1

(B) 4

©1

(D) 16

[FS N

91. A tank filled with water is made empty by
two pipes in 6 hours and 10 hours respectively.
What portion of the tank will be remained water-
filled after 2 hours on opening the two pipes
together?

(A) portlon
(B) portlon
(© = portlon

D —2- portion

A-20

0:835x 0:835x 0835 + 0-165% 0-165x 0-165
88. 0835x0835—0835x0165+0165x 0165
9 |9 T ¢
(A) 0:67
(B) 1
(C) 0-138
D) 2

89, 1 (7T 25 *IT =i #i7 CNT TS AT
A T F9 2
(A) 5200
(B) 4240
(G). 4056
(D) 4628

90, 4+—2

1+ 1
x+
(A) -1
(B) 4
© 1
(D) 16

=0, x~49 TN IS 7

1
3

91. {6 weTe)ef By 7% 7t iR QAT 6 Tt e
10 <51 el T T | 9ofB QK Y& @STR
2 9% WWWW{“TWT{W?

(A) —w"*f
(B) —W“"f
©) g

D) %ww
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92. A dwelling in-which soldiers live—
(A) Camps
(B) Barracks
(C) Tents
(D) Fort

93. 10 carpenters can make 6 almirahs in
7 days. Thenhow many days will take 21 carpenters
to make 18 almirahs?

(A) 10days
(B) 12days
(C) 16 days
(D) 15 days

94. Average of three numbers is 77. The first
number is twice of the second number and the
second number is twice of the third number. Then
what is the first number?

(A) 132
(B) 144
(©) 120
(D) 160

05, 1f 26.24 .. k. 14 ‘hen& = How much?

11°9° 13°
(A) 5
®B) 2
21
© L7
D) 3

96. Who introduced Kabuliyat and Patta?
(A) Sher Afgan Khan
(B) Sher Shah
(C) Akbar
(D) Malik Ambar
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92. GimfaE—

LA T
(B) AT
(C) &% (1)
) 7of

93, 10 & A WY 7 Fw 615 wiemnz amiTe
m:wzlwwma—ﬁmsﬁwﬁ
RIS AR

(A) 10w
B) 12T
(©) 16w
(D). (15 faes

94. TSN6AIYT g 77 1 AT ALY Rolmwaa
et g3} o Wit po T fawd | SigE
goiy AU Fo?

(A) 132
(B) 144
(C) 120
D) 160

95, ‘ﬂﬁ% 294 K %Q,WK—W?

(A) §
B) 2
21
©) 7
(D) 3

96. T4feiEe @ BT IP FLIA—
(A) GRS A
(B) (g ~iig
() ="
(D) T ==
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97. Evaluate the smallest number which is
completely divisible by 18, 30, 21 and- 12 if it is
made thrice.

(A) 420
(B) 360
(©) 520

DMRI/22
(D) 660
|

98, If Ais 10% less of B and B is 10% more than
900, then what is the value of A?

(A) 660
(B) 800
© 891
(D) None of the above

99. In an election, a candidate getting 60% of
votes defeats the opponent candidate by 298 votes.
Then total how many votes were polled in that
election?

(A) 1600
(B) 1490
(C) 1460
D) 1540

100. Loktak lake is situated in
(A) Nagaland
(B) Arunachal Pradesh
(C) Manipur
(D) -Sikkim
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97. Fwew WY Fo v A erad T
18,30, 21 8 12 714t F=jefsmcet Rerey 1|
(A) 420
®B) 360
(©) 520
(D) 660

98. I A, B~491 10% 2 20 942 B, 90097 57F
10% @M% =%, Bq A~ T F9 7

(A) 660
(B) 800
(C) 891
(DY BAE D 73

99. a3fp o, 9 AW 60% Coib (o 2fowrar

@I 298 (BTG <I=iero I | o €3 bt i

o g6 wIreiRs?
(A) 1600
' (B) 1490
(C) 1460
(D) 1540

100. IO @@ T]ES
(A) eiETTS
(B) SeelIoeT ATAre!
(©) W
(D) PR

R






